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Instructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) A) Fill intheblanks (attempt any 5 out of 6) [9]
1)  Cultivation of fruits and vegetable is known as
a Sericulture b) ~Foriculture
c) Horticulture d) ‘Agriculture
i)  Farm management dealswith
ad Judicious decisions
b) Use of scarce resources
c) Profit maximizationand family satisfaction
d) All of theabove
i) For purchasing of seeds, fertilizers etc the loan distributed is called
a Short termloan
b) Longtermloan
c).~ Mediumtermloan
d) . Longand medium term loan
IV). Industrilisation often leads
a)- Poverty b) Decentralisation
c) Development d) Population
v) Electronic Industry is a Industry.
a Small Scae b) MediumScae
c) LargeScae d) None of these
vi) Which of the following factors that affect the determination of

industrial location?
d Rawmaterid availability b) Transporationfacilities
c) Marketavailability d) All of theabove
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B) Matchthefollowing. [9]
A B
i)  Cashcrop a Sugarcane
i)  Primary sector b) Weber
i) Frm c) 1999
Iv)  Nationa Agricultural d) MahindraandMahindra
Insurance scheme
v)  Theory of Industrial location e) Agriculture
Q2) Write short noteson (any 2 out of 4) [10]
a Importance of Agriculturein Indian Economy.
b) Advantagesof large size of farm
c) The concept of plant, firm and Industry
d) Private Sector
Q3) @ What is Agricultural Economics? Explain the Nature and Scope of
Agricultural Economics: [8]
b) Explainthecausesof pricefluctuationinAgriculture. [7]
Q4) @ Whatis mean by Industrial Economics? Explain the importance of
Industrial Economics. [8]
b) “Explain the factors affecting the location of Industries. [7]
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